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1. Overall Description:

RAN2 would like to thank SA2 for sharing the conclusion of KI#6 “Adapting downstream scheduling based on RAN feedback for low latency communication”, and asking the question on feasibility to extend the adaptation mechanism also to the UL case based on UE feedback to RAN using RRC signalling. 
From RAN2 perspective, RAN2 thinks that it is possible to extend the adaptation mechanism also to the UL case based on UE feedback to RAN using UL 

signalling. 
As the usefulness of the solution is up to SA2 to determine, RAN2 would like to provide some inputs about the feasibility of the 
solution to assist the evaluation: 
· Considering that gNB will attempt to adjust the scheduling to reduce the time-offset between the data burst arrival and the transmission resources as much as possible, the adjustment by the application layer to change the data generation periodicity (to reduce the current offset) should not interfere 

with the approach the gNB applies as this interference may result in overall longer latency. 
· For some cases, UE implementation 

based adjustment solution could be considered, e.g., the UE can internally inform the Application running on the UE with the time of the grant occasion or time difference between packet reception and the grant occasion. 

Besides, RAN2 understands that the usefulness and efficiency of this solution will depend on how dynamically the UE reported information changes as well as the delay requirement for providing such information. 
Question: 

· In this adaptation mechanism applied to the UL, how dynamically would the UE reported information change, and what would be the delay requirement for providing such information? 
2. Actions:

To: SA2

ACTION: RAN2 respectfully asks SA2 to take the above information into account in the relevant work and provide answer to the question.

3. Date of Next RAN2 Meetings: 

TSG-RAN WG2 Meeting #121     


27 Feb  – 03 Mar  2023


                
Athens
TSG-RAN WG2 Meeting #121bis-e     


17 April – 26 April 2023






Online
�As discussed online, whether RRC signalling would meet the requirement is unclear yet.


�Considering RRC signaling has been referred to in  SA2 TR Note " the associated RRC signalling", the question in SA2 LS " using RRC signalling" and RAN2 already made "compromise" changing "feasible" to "possible", seems it won't be helpful for the estimation by further blurring it with "UL signalling". The asked question by RAN2 below is to check on RRC signalling based solution.  If SA2 in any case determines RRC signalling is not feasible, other types of UL signalling could always be considered. For this reply LS, I intend to keep "using RRC signalling". 


�Not sure we need "feasibility of the" or not: as below two bullets are on the "usefulness of the solution" as indicated in the begining of the sentence. I am open either way. 


�Unclear to us if this “should not interfere” means that RAN2 thinks that it will not interfere or it it means that RAN2 thinks it is important that it should not interfere (if SA2 ends up specifying the solution).





Either way, perhaps we can simply state that the solution described by SA2 may interfere with the gNB approach, and such interference can result in longer latency?


�I meant the latter interpretation. If it were for the first interpretation, it is clear to me "would not interfere" is to be used instead of "should not interfere". As RAN2 is not aware of the details of a possible SA2 solution, "may interfere" is an assumption which could be inaccurate. I believe "should not interfere" is more suitable, to serve as one RAN2 "requirement":  for whatever solution if specified by SA2, it shall not interfere with gNB scheduling. I hope my revision is fine. 


�It was not discussed much in RAN2. Unlcear if it is always possible.


�This comment is fair and the change is fine for me. 





